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Math 8
Lesson M2 Part 3 ~ Calculating Surface Area of Right Cylinders

Surface area of cylinder = 2 X area of one circle + area of the rectangle :
=2Xar+2mrXh

* Developirg;:
1. Determine the area of each net, to the nearest square centimetre.

a) @‘“m Area of net = 2 X area of one circle
+ area of the rectangle

12 cm =2X1‘rt"‘+2m><h
=2X7X Hx4 +2 X aX 4 X2

®4cm = 4ol.az (or 384)

The area of the netis _40 2 , to the nearest square centimetre.
b) @ 8 cm Area of net = 2 X area of one circle
+ area of the rectangle
e =2X e +2mrX h
=2XaX8xB +2X7X_& X 20
@sm = 406.72 (or 1344) crm*

C

) 16 cm

2 cm 2cm

The diameter of each circleis 2 csn |, so the radius of each circleis | cown .

Area of net = 2 X area of one circle
+ area of the rectangle

=2 X ar+2wrXh
=2X X Ixl+2XaX_ | X Il

= _100.7 (or 102)cm?




2. Calculate the surface area of each cylinder, to the nearest square unit.

a) radius 8 cm, height 12 cm
Surface area of cylinder = 2 X area of one circle + area of the rectangle
=2Xar+2arX h
=2XaX_ B +2XaX_8 X _ 12
= 1oo4. & (or 96d) crmt
The surface areais _| OO S , to the nearest square _ C vy

b) diameter 9 m, height 6.8 m
The diameter of each circleis ], so the radius of each circleis 4.5 .

Surface area of cylinder = 2 X area of one circle + area of the rectangle
=2Xar+2wr X h
=2XaX 4.5 +2X X 4.5 X b.®
= _319.338 (or 305.1)

The surface areais __ 3519 , to the nearest square __pe

8. Calculate the surface area of each
cylinder. |

a) » _2cm b) smm ¢

£ b) SA = 2xTx 12.5 "+ 25T x 12.5%2%

= 98l.25 + |8055
=| 19 O3 .25 rowrn?
(or 18 187.5)

C)SA'-'—?.{“xo.Zz-r 2XTx 2.2% 2.8
= 0.2512 + 3.5168

:[3.7908 ] (or 3.0)

Q) DA 2xMx2x2 + 2xTx 2% 1S
T 2:.12 + IBB .4

= E\E‘».sz el Cor 204)




e Proficient:
4. Find the area of each net.

8
SN ol 0
A =2xMx 22+ 2xTTx 2% 5 = 2x M % 124 25T I 3 = 24X 224 2x M 2x b
=|87.92 cmn? = 12‘5. 2 C,mﬂ = {TOO.'-!B cn® \
(or B84) (er 24) (or Cua)

9. A cylindrical tank has diameter 3.8 m

and length 12.7 m. What is the surface a
area of the tank? ‘—11‘14. 20712’ (or lbb. Y% W)

DA = 2xTx | Ax| A + 2xTTx |.9% 2.9

r=3.8<2 =1.9m

11. A wooden toy kit has different painted
solids. One solid is a cylinder with
diameter 2 cm and height 14 cm.

a) What is the surface area of the b) One can of paint covers 40 m>.
cylinder? Each cylinder is painted with one
r=1cm coat of paint.
SA=2xTxi1*+2xTix )% 14 How many cylinders can be painted
" sA=[a4.2 cm? | (e a0) with one can of paint?
+ locoo or ’ 4o <+ .00 2 = 424,28
:-FD-.OOGI'-}Z. A Ly You car paint |H2HbE cylindes,

3. Calculate the outside surface area each cylinder, to one decimal place. The cylinders are
open at one end.

SR e

15 % »
= 23cm

SA=Tx7.59 + 2xTx71.5x7 SA =Tx 2.‘41 +2xMx 2.4 x23>

=Boe.33&m?| (or uBas) = 30t THZH cm?
=483.8 ‘—\5(0‘—*.7 ct] (or 5"“8.5)




e Extending:

12. Assessment Focus LT c=Td
A soup can has diameter 6.6 cm. C=Mx6.b
The label on the can is 8.8 cm high. C= 20.7124d cn
There is a 1-cm overlap on the label. + )
What is the area of the label?

21.7724 crnn

A= 21724 % 8.8
a1z _cm?

13. A hot water tank is cylindrical.

Its interior is insulated to reduce 150 SA= 2xMx32.5%+2xMx32.5%150
heat loss. The interior has height 1.5 m o =277 24B .25 e’

and dxametgr 63_%?6 N’t&gtq}s%eég%fgg% SA = 2 xTx 0,325 % 2xTx 0325 1§
area of the interior of the tank? Give the 828 ro ﬂ

answer in two different square units. ,ﬁq

16. Take it Further

3 m x~ =660
The curved surface area of a solid a) 2xMxr

= bbD
cylinder is 660 cm?. \Z,ﬁrlr—’if e
The cylinder has height 10 cm. [c = bbcem
a) «\/\ft}at is the circumference of the By 2xMxr = Lo
cylinder? ol 2%
b) What is the radius of the cylinder? -
¢) What is the area of one circular { r=10.5cm]
base? ) A= MWx e -
- 0.
d) What is the surface area of the e il ‘D_'E_x/——-;_'l
C}rhnder? WA‘ = 34%b. \8S o

4y A = 2(346. 1BS) + beD

m52.3'7 cre?]

17. Take It Further Benny places a glass
cylinder, open at one end, over a rose
cutting in his garden. The cylinder has
diameter 9 cm and height 20 cm. SA=Mx 45> + 2 xTx 4.5x (20-5)
To make sure animals cannot knock the |SA = HB7.4BS cum?'_]
cylinder over, Benny covers the bottom
5 cm of the cylinder with soil. What is
the surface area of the cylinder exposed
to the sun?

SA= [ xTXexr +2 xTTerx h




